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(note: some fractions are simplified in this answers sheet, and non-simplified answers are equally acceptable)
1. 286 + 100 = 386
2. 234 x 2 = 468
3. 9.3 + 0.6  = 9.9 
4. 45 x 4 = 180
5. 4403 + 582 = 4985
6. 60  4 = 15 (show your working for 2 marks)
7. 584 - 7 = 577
8. 9.9 + 0.02  = 9.92
9. 4 x 4 x 6 = 72
10. 5/8  - 1/4  = 3/8
11. 250  5 = 50
12. 3.005 + 7.58 = 10.585
13. 3 4 = 81
14. 200000 - 200 = 199800
15. 100 x 100 = 10000
16. 1080  9  = 120
17. 595  7 = 85 (show your working for 2 marks) 
18. 2.32 + 3.765 = 6.085
19. 1/9 + 5/9 = 2/3
20. 8534 + 2175 = 10709
21. 11755  5 = 2351
22. 53 x 43 = 2279 (show your working for 2 marks)
23. 3/10 + 1/20 = 7/20 
24. 23.4 - 7.34 = 16.06
25. 772998 - 74396 = 698602
26. 21 x 1  1/3 = 28
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Question Paper  6
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